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| nput

Fortran
a Bi Y i
1 98 |59| 6 [45]|13|32|35|47|37]|-15
2 68 | 34|57 (62|51|12|48|34|10]| -19
3 61 | 55|52 (85|21 |48|32|42|13| 7
4 68| 6 | 3 (8L|24|15|30|29(36| 6
=83. 890 =101. 480

Fortran

a B yi . . ai i i
deg.) deg.) deg.) st sing i o (sec) (s/;c) (s;c)
08.9836 | 45.2242 | 35.7922 | 0.9877 | 0.7099 | -4.8605| 3.0604 | -10.3| 27.9 | -17.6
68. 5807 | 62.8516 | 48.5677 | 0.9309 | 0.8898 | 1.2E-04 | 1.6E04|-19.8| 21.7 | -1.8
61.9318 | 85.3640 | 32. 7043 | 0.8824 | 0.9967 | 1.6E04 | 2.5E05|-17.5| 10.6 | 6.9
68.1014 | 81.4047 | 30.4939 | 0.9278 | 0.9888 | 1.2E-04 | 4.6E05|-14.6| 10.8 | 3.8

S 83. 89

S 101. 48

p 4. 85E- 06

sina 0. 7528

sinB 0.6225

T 2. 6E+06

w 0. 0192
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